SV

B AB(BA) (2] #% AB(BA)
(4) JE#HAB

(3) P BA

@
(3)

A

(1)

(z)

(3) fix--ZBAD(ZDAB)
11y -+ #DBC(£CBD)
14z ZBDC(ZCDB)

(1)

i a---ZEAB

fiy ¢+ ZBDC
(2) ZABE=~ZCBD, ZABC=<ZEBD
MFE  (2)

(5] (1)

W |ZAED D

(BT B HOMTH < -
(2)#55 AD 3#5 CE 2 B 2 55907 %,

(6] (1)

(7 i1,

(3)

(2) ACD

ES1Ed

(2)
A

f b ZAEB

(3

(3}

S

2 A
411 )
D

Q

(BT 2 a2 B SNEROZESHHG0.
(2t d 2 HOIETH <.
(3EF PO 2 DC OAEHEH Qo

(1)

ox

(2)

(3)

5% TER (BERH)

ARER
W AB O|IH S SR LM L L DZEARD
LHEPLZ%,

@ %
0 1 B

0 ! B

o
45°=090° =2 5 5, ZAOB O %A ER
T5.

(1) P)‘( (z)
é ¢ f T }

1



4

WSS |
# AB, BC O 2580 28 AT oo Hul
I r

({8

[#%1]
WA OP Lo /P %32 B e O <o
-
P
ﬁ —
o D
l’.‘l
A C
B

LEHMAP R U E, AP LIZAB=AD k&5 4D
ED, EHIZDC=BC=ABLEZABMHCEEDL.

5% TER (BERH)

(1) 80° (z) 214%

{(1)ZAOB : ZBOC : #/COA=12:.3 .4

_ o 2 e
ZAOB=360" X 5557 =80
(2)ZA0B : ZAOC=2:4=1:2kb, 244

22 (1) 1:3 (z) 8fF (3) %1%
A
()AB : BC =~ZAO0B: #BOC=30": 90°
=1:3

(21 ADC &3 2 Hul g id, 3607 — (307 +90°) =
240° ZHiX AB OHLLA30° D B ELEM S,
MoEx1 8

240 _ 8
(ﬂﬁ— 3 (&)
(1) 5l-+2mcm fifl---6 r cm®

(z) 3---4mem W 6 rem?®
(18- 27 X6 xﬂ—&w (em)
360

g - ZXGZX%=6E (cm?)

(2)Elk-+ 2w X 3 X%=4n (cm)

ﬁﬁﬁ"'nXSZX%=ﬁn (cm?®)
4 (1) ®i--2mcm, T 8xcm?

(2} Eﬂl---%—zncm, [ --- 64 m cm?®

(3) 5k 4mcm, iFE---20 m cm®
25 J---(20+5m)cm
W (100 — 251 ) cm?

)
10 X 2+21r><10><-—%52ﬁ+5?: (cm)
iRl 107 — 7 X 102X g = 100— 257 (cm?)

(1) Jg-(8+3m)cm TWAE--6mcm?
(2) JFd--(20+10x ) cm
i#g-- (100— 257 ) em?

45 45
(14X 2+ 2m X 4X 200 + 21 X8 X 355
=8+ 3n (cm)
, 45 45
. 2 = 2 e
TR X 8% X gen —m X 47X 5o
=6 (cm?®}

(2)f-10X2+10x=20+107x (cm)
MRS 10°— X 5=100 — 25 & (cm?)



5% TER (BERH)

B Snem (6]
AEER
g 2em, FULAI120° 0B EROMO RS O2
sk b (27:><2><%)X2=%:{(cm) ¢ Q
g-ncmz
BEEE
2 om, BAA120° DB XHOWR 2 HPDDLILEREDE, LLORAEQLT S
n 120\ 8, L, PQACEIEE % b
%% (“Xg XSSO)XZ 3 7 (em?) (1) 6mem? (2) 4mem
& 6 (3) 18cm (4) 1447
3 [8] (1} 12cm (2) 36 cm?
4cm [ﬁ"_—lm
FTARERIZR LA XA el (1)AD + BC = 26— (8 —4) X 2=18(cm)
Ao LI, m AD : BC=1:2 kb,
60 _ 16 ) .
(2”X4X§6{))x4_ 3 7 (cm) vv Bc=%x18=12(cm)
B C 1 1
(2]Ex12><8—?><(18—12)><4=36(ch]
BOFED .
atb (9) 6mem®
@ (42 )em AEE
@) (1) a--ZBAC(ZBAO), nX]O?X-%—nXBEX%=6R (em?)

b---2CBD(£CBO),

¢+ 2ZCOD, d---£DCO
iz} ZAOB=.~COD, ZAOD=/BOC,

ZACB=~/CAD, ZADB=/CBD,
(3 (1) 8# (2) MG, HA
(4] (1) )r i2) ¢

2% RAT, ENLOEH FHHECE, X

bofzmddMHohiblib.



